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arIE / Date: 22.04.2018 2T ST &A1/ No. of Questions: 60
FHT/ Time: 10.00 5/ hrs ¥/ to 11.30 F=¥ / hrs (1 % €/ hrs) 37ORa 3% / Maximum Marks: 180

st & JrgwaATE 3regd & gEaneT
Roll No. of Candidate Candidate’s Signature
3re-a it & forw 3re7a9r / Instructions to the Candidates

OTRT- T IR et & W9 7 ¢ | Tt 3rsafiat ohr frefRoT WaAreT ewiT o 3R 9X AT S| / The question paper is in
the form of test booklet. All candidates will be assessed on identical questions.

el aEIe SR & WY Sfel S &1 UTe 3R / AT 3Hihsl Aied 9g Ieek e (T), (&), (&) dR @ Ruawg z=a7
Fae TF 61 Hel ¢ 3N FaY 3Ue 3coRk T T AT SV / Each objective question is provided with a text and/or

figures wherever applicable with multiple answer choices (A), (B), (C) and (D). Only one among them is correct and
most appropriate answer shall be selected.

T TS e 3 TEY SeeRk & T FATer 37 — et § 3R e 1o 3ee & forw v fagré Ardia 3ie ey gl / Al

objective type questions carry equal marks of THREE for a correct answer and One third negative mark will apply for
each wrong answer.

TF U3 & foIT 3a% 3ca¥ &) U 3HS! Iod e} AT AT / Multiple answers for a question will be regarded as
a wrong answer.

Ik & & forw el areaf¥ial &) wer 37eeT 3NTASR 3cdT U Yele [ 14T §1 / A separate OMR answer sheet is
provided to all candidates for answering.

HTAIR 77 T T 7T 3geeli T eAeTgds 96| mwwmmmmmﬁmm¢m
Fel diel giee UeT (Arell/amTell) ST TAT S| / Read the instructions on the OMR sheet carefully. Use only Ball Point
Pen (Blue/Black) for writing on OMR sheet and marking the most appropriate answer.

o1t QRIS T aTfeeit 30 SR & ey X T AT oY 2 7 2 2 o & FfEad 81 5 Hfar &9 @ 3eAsw e & sterd o)
ford 3R 3T &7 & aer | AT F FA W 3ea T FH Hedided 61 (AT STCAN| / Question booklets have been

marked with A or B or C or D or E on the right side top corner, which is mandatory to be written on the OMR sheet in
the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

greriTer TlreT 1fey & 31 aReEar R SR & €, v ot 3k fore g svgeaqot ¥ o aurdera ermd) €9 & 3791 §77 &7
FoteT Y| S HaTer 3T fT SgaT ARFE 8 SAR T T41G o Y| T 3ol FeAT IR S HH & AR a1 7 it Farer

W G99 3T Hea &1 / Although the test stresses on accuracy more than speed, it is important for you to use your time as

effectively as possible. Do not waste time on questions, which are too difficult for you. You can go on to other questions
and come back to the difficult ones later.

Ty e g d gReae # 3Uee T R Fear w1 R S Hhel §1 g6 fore 1ot offe s7e & Smeer / Space
available in the booklet could be used for rough work, if required. No separate sheet will be provided.

. TR olreT EATC 1 W, HTHRR Seek JRedet i 3R & deet fHeet @ BIS 3R o JTHIR SRk JRecThT et &1
gy FRJTE@'ffEIﬁ TR qrF I | / On completion of the Written Test, tear the OMR Answer Sheet at the perforation mark
at the top and hand over the original OMR Answer Sheet to the invigilator and retain the duplicate copy.

. e FATCT g W (1) e afem wier o7 forer w1 Bt R rar § 3 (2) 3eesiR 3o o e # |l § s
freY off oRTBURY ¥ 3nwedf st W 7 & ST | / At the end of the test (1) Written Test Call Letter(s) with

photograph pasted on it and (2) OMR Answer Sheet should be handed over to the invigilator and shall not be
carried by the candidate under any circumstances.
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01.

02.

03.

04.

wesT gf3T S8 / Question Booklet Code

Al 37erral o ST 3 FHeFAI i & @R AT ST &

Clearance between mating parts is measured by

(A) S/ 95T/ Dial Gauge (B) 'GO'dIST/ ‘GO’ Gauge
(C) ¥dgeh I9T / Feeler Gauge (D) SHfeaX 3T/ Caliper Gauge

BTfeTeh-Fetshel % forw foRar SITaT § / Spot-facing is done to

(A)  aferd &g & 7@ %I Y&ITd HIA / deburr the mouth of the drilled hole
(B) UG &I HUIC F=1 g clfeh Jo6 W atee <MY 3 die de

make surface flat so that bolt head can take proper seat on the surface

(C) daftrT &g &l GaRsHid =1 / give fine finish to the drilled hole
(D)  =HiS[er [8g @1 &13T =1 / enlarge the existing hole

ST T 3TATET % T fepa ST § / Bearings are used for

(A) TR 3rawar 7 e oT TeTele 3iR 9ehseT / support and hold the shaft in a fixed position
(B)  <r%Fe o f&i=AT ek Tk Telet / allow the shaft to run freely

(C)  Tedar gfehar T e &I / minimize the rubbing action
(D) W& |/ All of the above

V-TgT ATl o e 7 e faf@d 7 8 Fisf 67 9er 76! 87
Which one of the following is NOT CORRECT in respect of V-belt drive?

(A) I TEd g/ Itis compact
(B) S I ¥ IEAT ST GohTl &, 3R SHHI I@-IWIT AT §

It can be easily replaced and its maintenance is easy
(C) =Y & YR AR Hu=T gIar g / It causes less noises and vibration

(D) G IgT SN T ST B, STgl S15a 3R Farfele Jeil o ofrer v gdi 31feih gicil §

It is used where distance between driver and driven pulleys is more

awaifge Y (€51X) / Technician ‘B’ (Turner) — 2018 — 3MSH3MHT / IPRC




05.

06.

07.

08.

99eT UT¥hT $15 / Question Booklet Code

Teh 3R H 25 + 0.02 A & 3T §1 Alesoyer et §72

A dimension is stated as 25 £ 0.02mm in a drawing. What is the tolerance?

(A) 25.00 f&.#T. /25.00 mm (B) +0.02 AT /+0.02 mm

(C) —0.02 &AL /-0.02mm (D) 0.04 AT /0.04 mm

A Aafafadadr & AU S 8Ici § / Interchangeability is normally applied for

(A)  Ysif &I #3F# / Repairing of Parts (B)  Yef 3cdTe / Mass Production

(C) Ul @S 3cuieaT / Single Piece Production (D) 39X o &aiT / All of the Above

TH.37TS. SHISAT o 3THR olellS H HA $HS ___ & / The base unit of length as per S.1. units is

(A) g /inch (B) ®e/foot

(C) HIHEX / centimetre (D) #HIeX / metre

Teh FAZhIAC A 0.03 AT T KOMcAS I ¥ WET UIedish AT §, ST ATShIAICR T AT 40.53 A §72 /

A micrometer has a negative error of 0.03mm. What is the correct reading when the micrometer measures

40.53mm?
(A)  40.50 T /40.50 mm (B) 40.56 .7, /40.56 mm
(C) 40.46 TA.#T. /40.46 mm (D) 40.59 fA.#T. /40.59 mm

TG &Y (€)) / Technician ‘B’ (Turner) — 2018 — 3§93l / IPRC




09.

10.

11.

12.

9T 3T %15 / Question Booklet Code

fordlT o Foige &1 Had Ageaqol auraean g

The most important quality of any lubricant is

(A)  *ITedT / Viscosity (B) TafRrsc gsica / Specific gravity
(C) fafdrse AT/ Specific heat (D)  9IIHIERIOT / Emulsification
U ST gRIFT AR R & forw aiRa forar sirer &

Drill Jig bushings are normally hardened to

(A)  TSI9T T SJeharreT A GRI&TT T / Protect the jig from damage
(B) ot feverdor ar feor & 3T i Fdier: FERIT SRl §U ErdienreleT 31 YiATRET e

Ensure prolonged life without wear or tear so as to guide the tool accurately

(C) =T A & TR ol fAETRIT $=T / Guide the tool so that it does not go inclined
(D)  3mTeir & TGt Sl a18T glst / Allow the chips to come out easily

AT ot 3 & leT AT STTEOT 7 FTer el 52

Which one of the following properties offers resistance to abrasion?

(A) FARAT/ Hardness (B) HSUT/ Toughness
(C) d==dr / Ductility (D) 3TETATEddr / Malleability
FSAT 3YAR 6T 38T € / The purpose of heat treatment is

(A) ST o Tif3eh [T T seelel & fAT /To change the mechanical properties of Steel
(B) SEUA o Hidkeh T I Scelel o olT /To change the internal structure of Steel
(C) HTH o Y &l dgelel oh fel¥ /To change the appearance of the component

(D)  SF9Id o I 0T T Seelt o felT /To change the chemical properties of Steel

aselfrs P (€=i%) / Technician ‘B’ (Turner) — 2018 — 393 / IPRC




13.

14.

15.

16.

2T 93T F15 / Question Booklet Code| A

TEUE.OH. R &7 STRIRT a4 Hg 3T H1 TG & ToT (IS shelel rel Sl 90& Sisf H &2 /Which

range of cutting speed is set for turning a mild steel using HSS tool?

(A)  15-20 HI/ T&=TC / 15-20 m/min. (B) 35-50 HAI/fAsIc / 35-50 m/min.
(C)  50-80 HI/[F=Ae / 50-80 m/min. (D)  70-100 HI./f&sTe / 70-100 m/min.

T AT IR FT Fede T WG TR 16l [hT ST §1 AeTTe e 7 & et AT hedsh ITer STATEAT HT

I9AYeT fRAT STAT &2 / An irregularly shaped workpiece is turned on a lathe. Which one of the following work
holding accessories is used?

(A) TISIEST I /[Three-jaw chuck (B) &fd SI&isT ek / Two-jaw chuck
(C) dTel 9fgenr / Driving plate (D) el Ufgehr / Face plate
QAT ST dTel Tereeteh T T T wlTst 82

What is the advantage of tailstock spindle having left handed threads?

(A) R &I 3T A T, ST RO GHTIT STl §
Avoid advancement of barrel when rotated clockwise
(B) gAY o gecr-afeam & geromad aTfa & Ay §er 3797 ferm & =
Ensure that the barrel advances with clockwise movement of handwheel
(C) el & 31caftreh a1fel & ygfeet I el HL
Reduce the tendency for excessive movement of the barrel
(D) % 3R gEA-Ifear & e F 5

Avoid jamming of spindle and handwheel

7T 3R RN =g & g & AT 7 3R & SUeX § / The difference in measurement between

the machined and un-machined diameter is equal to the

(A) el TS /depth of cut (B) ¥ xSl IG5 /¥ x depth of cut
(C) 2 x@deT IS /2 x depth of cut (D) A A HIS s AAGT /None of the above

TFAIRE P (€4i%) / Technician ‘B’ (Turner) — 2018 — 3m$di3ml / IPRC 6




17.

18.

19.

20.

w97 IFT F1Z / Question Booklet Code| A

forrTTaae 31 & ey T & g3 3T T FROT§, 519 TG o T Fielef &1 T 62

Which one of the following is the reason for torn threads while thread cutting on lathe?

(A) @3%3% SR /Blunt tool
(B)  ScleT ST AT g1 /Heavy depth of cut

(©) 3r9aicq aTed 31deRIT /Insufficient side clearance
(D) SHIw &t /All the Above

A R 31T FAeRIOT STt 3 leT T Wi Wl 87

In a right angled triangle shown below which one of the equation is correct?

o
A B
(A) AB?=BC?+AC? (B) BC?=AB?+AC?
(C) AC?*=AB*+BC? (D) =T W IS ofr 7T / None of the above

3:x : 9:21 dAxuareEm@?/ 3:x ; 9:21 Findx?

A 7 (B) 8
€ 9 (D) 10

afad Y & a1f &7 9T o9d, o9 areis TaRe shr a1fa 200rpm & | areres 3R el TEReT sl SO has:

20 AT, 31K 40 A, ¥/ Find the speed of driven pulley when speed of driver pulley is 200rpm. The
diameter of driver and driven pulleys are 20cm and 40cm respectively.

(A) 200 rpm (B) 300 rpm
(C) 100 rpm (D) 400 rpm

TR ‘&Y (z=) / Technician ‘B’ (Turner) — 2018 — 3T$HIHHT / IPRC 7




21.

22.

23.

24,

wesT 93T H1Z / Question Booklet Code| A

IS THATY 5 GOF Teh A FHl 32 ﬁ?ﬁﬁwwm%‘,ﬁwm%ﬁmﬁrﬁﬁﬁswmﬁaﬁw

$? / If 5 men working on a job can finish it in 32 days, find that in how many days 8 men will finish the

same job?
(A) 10T/ 10 days (B) 15T=T/15 days
(C) 20 f&T/20days (D) 25f&=T/25 days

o d#, 10 W, T 12 . & il & Pt hr 3e-aRaT @it |

Find the semi-perimeter of a Triangle with sides 9cm, 10cm and 12cm

(A) 10584 /10.5cm (B) 1259 /12.5¢cm

(C) 15.5¥#. /15.5¢cm (D) 18.5¥.#. /18.5¢cm

3000 .37, & afeT 3/9€h ¥ 150 1o, 30T, dieT fiehTolT 91T &T| JieT 310Eeh & dieT &l Giaerd T 72

150kg of Copper was extracted from 3000kg of Copper Ore. What is the percentage of Copper in Copper
Ore? i ‘

(A) 5% (B) 10%

(C) 15% (D) 20%

1 #eX F TSR & / 1 meter is equal to

(A) 40 33/40 inches (B)  39.37 §4/39.37 inches
(C) 36.00Ea/36.00 inches (D) 36.37 549/36.37 inches

TR &Y (€51)) / Technician ‘B’ (Turner) — 2018 — 3TSM3MRAT / IPRC 8




25,

26.

27.

28.

79T 9T H13 / Question Booklet Code

3T I RT=Y & Forw 392eT RFT STret arer 3iieTR &7 e J

The tool which is used for laying out large circle is

(A) TdeSI=r /Divider (B) <A /Trammel

(C) SIeir shielsX /Jenny caliber (D) e /Caliper

“\/" Selieh ST SEQHT el 3TGAaT T Yehsal & foIT T ST §1 “V” &7 WiaT 10T

“V” block is used to hold round parts. “V” groove angle is

(A) 30° (B) 60°
(C) 90° (D) 120°

WA I56 31t & e=afaf@d o7t 7 & shler &1, fHERr fheRT & a1 FA{c X1 37R% # #Hee F:dT &2 / Which

one of the following parts of a universal surface gauge helps to draw parallel lines along datum edge?

(A) 3THR/Base (B) T &TaTr /Rocker Arm

(C) THAM™IS® 9T /Adjusting Screw (D) M3 U /Guide Pins

e, [&eeh sIvT &0 g § /The point of centre punch angle

(A)  30° (B) 60°
(C) o0° (D) 120°

TReRIT &Y (&) / Technician ‘B’ (Turner) — 2018 — 3TEYI3MRAT / IPRC




29.

30.

31.

32.

9T 9T F12 / Question Booklet Code| A

Aol uor & g2ist & & @i a1, Rae oY garr Rae AT & St & T 3uiter f&har Sirar §72 / Which

one of the following type of hammer is used for rivet head by spreading the shank of the rivet?

(A)  SferdeT gaiisr /Ball pen hammer (B) wIg U gllsr /Cross pen hammer
(C) & glsT /Soft hammer (D) HIRI Mallet
A ABHIFIC 7 RiFaer 3137 &7 Teh o7 qRehaA0T 3

In a metric micrometer a complete revolution of Thimble advances

(A)  0.01 &#/0.01 mm (B) 0.05f&#/0.05 mm

(C) 0.5fH#A/0.5mm (D)  1.00 f&.#T./1.00 mm

IR I AT T 3Teddeih %/ The least count of Vernier bevel protractor is
GV B ¥

(c 10 (D) 25

gordl airgl 3 7fiet 9 fafdAa gia 8, +ifss

Machine beds are manufactured in Cast Iron because

(A) T 3T TS uldleer I faTer T TehdT & /it can resist more compressive stress
(B) Jg T HARIY /itis heavy in weight
(C) JgHEATE itis cheaper

(D) TG SR UTR /itis brittle metal

awafge P (eeR) / Technician ‘B’ (Turner) — 2018 — 3TSM3MRET / IPRC 10




33.

34.

35.

36.

9T UTT H1g / Question Booklet Code

STITA # ShIeleT ATAT ST T IRUMA ___ ¢/ Increase of carbon content in Steel results in

(A)  FORATH IR /increased hardness (B) 3murd@edar A gfg /increased malleability
(C) T I H R fincreased ductility (D) WERAH IR fincreased strength
A HleTeh & 31TAR, e 31t & Ueh fa9 Foqg gl g

As per Indian Standard, a special set of slip gauges consist of

(A) 81 #rdT/pieces (B) 112 #A1dT/pieces

(C) 120 HAT9T/pieces (D) 130 #rdT/pieces

& AT 31T MY FATEel 1 T § / Indexing head mechanism works with

(A) Y& T @R /Rack & Gear (B) @A g AT /Worm & Worm Gear

(C) garsgd RR /Two Bevel Gear (D) ar¥R =R /Two Spur Gear

3 3R s T S & fow Feafaf@d & & i 3 I 1 3941 RhaT ST 872

Which one of the following instruments is used for checking large internal diameter?

(A) g IS Hole gauge (B) 3ic:wdf ST /Telescopic gauge

(C) Terr T /Plug gauge ' (D) T3S /Snap gauge

TRl IgeT ‘dY (€1X) / Technician ‘B’ (Turner) — 2018 — 3TSA3MH / IPRC
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37.

38.

39.

40.

g9eT gfeT S8 / Question Booklet Code

oficteh & &9 3 gefareiiel def 3R STl T ATAI el J

The general ratio of soluble oil and water used as coolant is

(A)  10:1 (B) 1:10
(¢) 1:20 (D) 20:1

oot o 9RTEr 66 &30, ¥ =g &7 gar e

The circumference of a circle is 66mm. Find the diameter.

(A)  21TAA/21 mm (B) 42 fA.#/42 mm
(C) 33fA.AL/33 mm (D) 11 f&A/11 mm
TFIoR R sas & fAfg & / A tumbler gear unit consist of

(A) 171 gear (B) 2 TR/2 gear
(C) 3 TAIWU3 gear (D) 4 R4 gear

&g WE & Uy F faU 97T STadre T 1 AT 57

What is the function of the dropworm provided in the apron of the centre lathe?

(A)  TICe ToRoT &l F1 TX ST / FS1T / Engages / disengages the power feed
(B) e & FUT I G 9&e & / Changes the direction of rotation of the workpiece
(C) SRUTHI T IEeIaT§ /Changes the feed direction

(D)  373r0T 9T T IH T LT /'g31T | Engages / disengages lead screw

a=ifAraet ‘dr (e+X) / Technician ‘B’ (Turner) — 2018 — 3M$H3RHY / IPRC
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41.

42.

43.

44.

U9 If3T F15 / Question Booklet Code| A

CORECTeh &6l 7 AR TR BT &1 Refaf@d A ¢ F & Sl 1 SR O & ar smarg?

The tailstock barrel has an internal taper. Which of the following standard taper is provided in the barrel
bore?

(A) ARTH TR /Metric taper (B) ARTCW /Morse taper

(C) <TfTW [Torno taper (D) &3 AR emf ¢ /Brown & Sharpe taper

TG G ST TR T WIS & e T@T I 45 T390 0 ATt Fopam aram &1 31egoreer @k <iisTs o oreish

f3air ger / The compound slide swivel base is set at 45° to the centre line of lathe. The degree of

reading at the cross slide will be

(A)  135° (B) 90°
(C) 45° (D) 30°

TRIG T it T 3787 & AL ToAdT 82 / The carriage of a lathe travel along which axis?

(A) “B" 3187/ “B” axis (B) "Y” 3781/ "Y” axis

(C) X’ 3181/ “X” axis (D) “Z" 381/ “Z” axis

eI N, $HH o / IR A A\ Gehfod HMeeT 8 TROT e & v Heafaf@d 7 F sie a1 yer fmar S

§? / Which one of the following is used to hold the workpiece for machining diameter concentric to its

hole/bore?
(A) el Wit /Face Plate (B) #Hegel / Mandrel
(C) o SIear g% /Three Jaw Chuck (D) IR SdsTdeh /Four Jaw Chuck

dHeIRIgeT ‘A (€=X) / Technician ‘B’ (Turner) — 2018 — 3mEdi3MHT / IPRC 13




45.

46.

47.

48.

TesT I F15 / Question Booklet Code

m%%%ﬁhﬁ%m%@ﬁmﬁﬁaﬁmmmwwﬁ

Which one of the following tool post is easy for setting the tool centre height of the tool?

(A) 39 153 3SR 9k / Open Side tool post
(B) ¥aw 9= 3R 9Re/ Swish Screw tool post
(C) uqsH ISR &R/ Four-way tool post

(D) graf3e 3SR &Rk / Universal tool post

Thier 3R R T araelt # i & /Scroll & Gear mechanism is employed in

(A) TISEsTgs [Three jaw chuck (B) IR SEST T /Four jaw chuck
(C) Twehra = s /Magnetic chuck (D) @ielc g /Collet chuck
T 3o VT ATAAIR T & g1 3SR IR AT SIar &

The negative rake angle is generally provided on the tool made of

(A) TT.UH.UH. /HSS (B) 3R g&urd / Tool Steel
(C) e FraT3s / Tungsten Carbide (D) TY.ELTH./HCS
HIAE HreTgs 3iSTT hT 377 CART HEAT W S5 feam arar gl

The tip of cemented carbide tool is joined on shank by

(A) dese / welding (B)  sISi=T/ brazing

(C) drese / soldering (D) U % WY 3GHET / damping with a screw

FEFATG &Y (&) / Technician ‘B’ (Turner) — 2018 — 3MEYI3THT / IPRC
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49.

50.

51.

52.

e IT¥T H15 / Question Booklet Code| A

FEATT O ATl TART1T & A1 Hla1gs 3737 3SR &7 921er @re R R S § | Seatai@d F § i a1 e a1

3SR & a1 =M foham ST @ehar 872 / A carbide tipped tool with blue mark on shank is used on a lathe.

Which one of the following materials can be machined with this tool?

(A) dIder/ Brass (B) ¥UIT/ Steel

(C) VeffATAZH / Aluminum (D) e Gerdl @rgr / Grey Cast Iron

P oh TR TR, AFATC T Rl & § PleT-AT YT & T T [T i §72

Which among the following factors governs the selection of feed when turning a workpiece?

(A) 3SR SATT / Tool geometry (B) YS& |HYfel / Surface finish
(C)  &d= TS / Depth of cut (D) FW & @efr/ All of the above
ettt 1 3RITer o forw foRar ST § / Trepanning is used for

(A) g de / Small boring (B) ¥ I/ Step boring

(C) 3 3R & &g / Bigger size holes (D) 371 &g / Blind holes

AT TR A A5 & SeX § / In Morse taper, Morse No.5 is equal to

(A) 2.58° (B) 2.59°

C) 3.00° (D) 2.00°

daailRr4et ‘dY (€517) / Technician ‘B’ (Turner) — 2018 — 3m&di3m= / IPRC 15




53.

54.

55.

56.

gesT i1 F18 / Question Booklet Code

TeheT 3701 sl TSR &IoT & Uier & / Signature of single point cutting tool angles are __

(A) I &F 37999 / Ten elements of angle
(B)  RIUT o Bg 37934 / Six elements of angle
(C) @IV & TId 31a3d / Seven elements of angle

(D)  @IUT & uiT 37944 / Five elements of angle

e Y <@ T o T EART S &l STl &

The pitch diameter of the external screw thread is checked by

(A) I3 R 91sT / Screw pitch gauge

(B) TSIl el / Thread ring gauge

(C) U g ATSshiAICY / Screw thread micrometer
(D) AT FHATR / Vernier caliper

3175 .31, Hied gg1 1 FT ¥/ The foot of ISO metric thread is
(A) T9er/Flat (B) dilel / Round
(C) A Iel / Sharp corner (D) =I5 YIS 3T sTer / None of the above

Tl e w21 3rawel 3 & ieT AT I Tor AT WY S T AT IS

Which one of the following screw thread elements is not checked with the thread ring gauge

(A) T &1 eamE / Pitch diameter (B) T/ Pitch
(C)  Fsfa=i 10T/ Helix angle (D) WIS / Profile

TR @Y (&) / Technician ‘B’ (Turner) — 2018 — 3M$HI3MHT / IPRC
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9aT UfeT 13 / Question Booklet Code| A

57. YSIGR Heead ), dgdl 3N Nl gg1 & o Fueh W BIAT & / In a threaded assembly, the contact

58.

59.

60.

between the male and female threads takes place on the

(A) T/ Pitches

(C) TRI@R/Crests

TT.UH.0E. A fey [Fenicas dod

(A) <IEesT/ Tungsten

(C) &=f3=# / Vanadium

3FeTee 0T & HROT HARAT A g I

(B) UrRd/ Flanks

(D) ¥eT/Roots

& / Main alloying element in HSS is

(B)  If&AIT / Chromium
(D)  Tetehel / Nickel

_ EISaTe

The increase in hardness due to cold working is called

(A)  STelT SHORIETT / age hardening
(C)  ORUT HARIIT / induction hardening

dicel ShctsT o foTT, SligTehle 3TRY Weleh F I 25 ). R gidt r gwar glelr arfRw

For cutting brass, the hacksaw blade should have

(A 14
(C) 32

(B) I HdRIHIOT / work hardening

(D) SaTel HARIHT / flame hardening

(B) 24
(D) 40

number of teeth per 25mm
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ANSWER KEY
Question Booklet Code A
01 & 31 B
02 B 32 A
03 D 33 A
04 D 34 3
05 D 35 B
06 B 36 B
07 D 37 C
08 B 38 A
09 A 39 C
10 B 40 A
11 A 41 B
12 A 42 C
13 B 43 D
14 D 44 B
15 B 45 D
16 C 46 A
17 D 47 C
18 B 48 B
19 A 49 B
20 C 50 D
21 C 51 C
22 C 52 C
23 A 53 C
24 B 54 C
25 B 55 B
26 C 56 D
27 D 57 B
28 C 58 A
29 A 59 B
30 C 60 A




